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Question 1.

a.

SCIENCE (THEORY)

Choose the corect option

When powdered lead nitrate is heated in boiling tube theo produced brorvn smoke has -

(i) \itrogen monn orioe.

(ii)Nitrogen td oxide.

(iii) Nitrogen odi oxide.

(iv)Nitrogen pcnta oxide.

A "olutin r rurns rcd litrnur paper into b.ue. its pH probabliq oe -

(i) 1 (ii) I 0ii) s (iv) i0
c. The decomposition ofpyruvale to produce Carbon dioxide waler and energy happens in -

(i) Cyoplasm

(iii) Cloroplast

(ii) Mitochondris

(iv) Nucleus

Ehich ofthe lbllowing is not represent electric power -

(i) I,R 6i)rIt' 0ii)vt
,..rc(lv) 

R

Ih( chdnge in th< lucll tenfi ol ()( lens is due to aet'.rn of

(i) Pupil (ii)Retina

(iii) Ciliary Muscles (iv) Iris

Dam is relatcd to -

(i) Therno-elcctric station

(iii) Hydroelectric power station

What is Amalgam ?

(ii) Nuclear pouer station

(iv) Gas initiative power station

Question 2.

Question 3.

Question 4.

Question 5.

Question 6.

Name aplanthamone which inhibits growth ?

What is the another namepfRight Handthumb 1aw ?

U hich mis.ion is u'ed as rear mirror in r chicles I

\\ hi* r:rd:r. ion i' absorhed b1 ozon< lel er I



7. What happens rvhen EthenoicAcid reacts ir, ith Sodium hl cL-oxide, \\,1.ite the cquatiou of

the reaction ?

Question 8. What is the meaning ol'pcriod & group in periodic table? Horv many groups & periods

Question

Question

in extended modem peliodic tablc i
9. \\ihal are the dillercnt circumstances lbr photo synthesis ?

10. \\ihat is the meaning of internal l'ertilization & external l'edilization Explain u, ith

examples ?

11. What do you unclerstandbl Homologons &Analogons Organs'l Explain \\,ith

examples ?

12. \\''hat precautions should be lbllow to avoid ovcr load in domestic electrio circuit ?

13. IIorv much chmgc is posscss by an electron Calculate the numbcr ol clectrons to

make a one coulon'lb charge ?

l,l, \\iritc four propcftics of imagc folmcd by plane mirror ?

15, Writc advantages 01'electricity produceed by wind cncrgy ?

16. Writrv ari equation ofdecomposion lbr each where energy is plivided as (a) heat (b) light

& (c) elech icit)' ?

17. Writc three physical propefiies ofcach metal and non metal ?

18. Electlonic conllguration ol'lhere elements X, Y & Z are given bclo$'-

Question

Question

Question

Question

Question

Question

Question

Question

Question

Question

x-2. Y-2.6

(i) \\ hich elemcnt is a rrember ofsecond periocl ?

(ii)Which element is a memher of second groups ?

(iii) Which element is a membcr ofeighteenth group ?

OR

What is Hydrogenalion'? Explan the industrial use ol this proccss

19. What is the djflcrence bet$'cen self pollln.rli,rrl cnd L rr,\s fjolinrtiL,lr '' IJoN ll'le insects

helf in cross pollination ?

20, Namc Lhe glands u'hichAccrete lbllorving hormones -

(i) Estrogen

(iv) lestosteron

(iii)Insuiin(ii) Thyoxine

(v) Groth halmone (iv) Adrinalin
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Qucstion 20. Namc the glands rvhich Accrcte fbl1orling """ " " -

(i) lJstrogen [i) Thyroxinc (iii)lnsulin

(iv) lestosteron (v) Groth hannone (iv) Ad nalin

Question 21. What is Blood ? Write the lunclions of its each component 1

Question 22. Cross scction ateas ol copper wire is 0' 1964X10 'm'] if the specific resislance o1'

coppcr is L6XI0 8(! 
m

OR

Write three properties ol Magnetic line of lbrce ?

Question 23. 'lwo thin lenses 01'pon'er +5 0D and -7'5d alc placed in conlact lo each other'

Find out fte lbcal length andpo$'crofthis lense combination'l

Question 2il. Explain rvhY ?

(i) lnner surlace ofsolar cooker box is black'

(ii) Solar cooker box is covered by glass sheet

(iii) Plane mirror is used as rellection in solar cooker box'

Question 25. \Vhdt is plastcr ofparis ? How it is lbnned ? \\rhat happens when $'e poucd $atcr in

plastcr ofparis, give equation also

Question 26. Write tfie rnolecular tbrmulae ofpantane Dra$'the structure ofallpossiblc isomers

ofPanta,re.

Question 27. Which substances are found in gasLricjuice and what are thcir functioos ?

Question 28. Draw the labelled diagram ol electric motor. Clear its principlc & methodology' ?

Question 29. What is chromatic ordcr ?-Drarv a labelled diagram to silo\\'the fo1mation of

chomaLic ordcr' Write the ditierent colours of chromatic order'

QLrestion 30. \\'hy rve conserve tbrest and r'vi1d lile ?


